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Q1. Which of the following countries does Tropic of Capricorn doesn’t pass? 

a. Australia 

b. Madagascar 

c. New Zealand 

d. Chile 

Solution: c 

Explanation: 

 

 

Q2. Which of the following is very near to Tropic of Cancer? 

a. Gulf of Aden 

b. Gulf of Khambhat 

c. Gulf of Kachchh 

d. Andaman Sea 

Solution: b 

Explanation: 
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Q3. Sea of Japan (East Sea) is located in: 

a. East of Korean Peninsula 

b. South of Korea Peninsula 

c. South of Japan 

d. East of Japan 

Solution: a 

Explanation: 
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Q4. A horizontal line to Black Sea (at any point) will never cross: 

a. Adriatic Sea 

b. Caspian Sea 

c. Aegean Sea 

d. Mediterranean Sea 

Solution: c 

Explanation: 
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Q5. Consider the following countries. 

1. Malawi  

2. Zimbabwe 

3. Mozambique 

4. South Sudan 

5. Niger 

Which of the above countries are land-locked? 

a. 1, 2, 4 and 5 only 

b. 1, 4 and 5 only 

c. 2, 4 and 5 only 

d. 1, 2, 3 and 4 only 

Solution: a 

Explanation: 
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Q6. Consider following statements related to geography of India: 

1. Except China, all countries with which India shares land border are member of SAARC. 

2. India shares land boundary with 6 countries. 

Which of the statements given above is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

SAARC has eight member countries: Afghanistan, Bangladesh, Bhutan, India, Maldives, Nepal, 

Pakistan and Sri Lanka. Myanmar with which India shares 1643 KM of land boundary is not a 

member of SAARC. 
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India shares the largest land boundary with Bangladesh (4096.7 KM), followed by China (3488 KM) 

and Pakistan (3323 KM). 

India shares its border with seven countries- Afghanistan and Pakistan to the North-West, China, 

Bhutan and Nepal to the north, Myanmar to the far East and Bangladesh to the east. 

 

Q7. A horizontal line drawn across Delhi will cross which of the following states? 

1. Punjab 

2. Haryana 

3. Uttar Pradesh 

4. Bihar 

5. Arunachal Pradesh 

Select the correct code. 

a. 2, 3, and 5 only 

b. 1, 2, 3, 4 only 

c. 2, 3, 4 and 5 only 

d. 1 and 3 only 

Solution: a 

Explanation: 
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Q8 Consider the following pairs. 

Places in news location 

1. Kolleru Lake freshwater lake located in 

Andhra Pradesh 

2. Galapagos Island  Pacific Islands 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 
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News in brief: 

               Places in news            location 

Kolleru Lake freshwater lake located in 

Andhra Pradesh 

Galapagos Island  Pacific Islands 

 

 

Q9. Consider the following: 

1. Monte Desert: Europe 

2. Mojave Desert: South America 

3. Gobi Desert: Asia 

Which of the above pairs is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 2 and 3 only 

d. 1 and 3 only 

Solution: b 

Explanation: 
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Q10. Which of the following places does Equator passes? 

1. Velds grassland 

2. Sahara Desert 

3. Amazon forest 

4. Alps mountain 

Select the correct code. 

a. 3 only 

b. 2 and 3 only 

c. 3 and 4 only 

d. 1 and 2 only 

Solution: a 

Explanation: 

The equator passes through 13 countries: Ecuador, Colombia, Brazil, Sao Tome & Principe, Gabon, 

Republic of the Congo, Democratic Republic of the Congo, Uganda, Kenya, Somalia, Maldives, 

Indonesia and Kiribati. 

Now, Amazon Forest clearly visible, equator will pass (see countries). See all maps below. Equator 

doesn’t pass through any. 
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Q11. With respect to the global stocktake of the Paris Agreement (GST), consider the following 

statements. 

1. It is an annual process for taking stock of the implementation of the Paris Agreement. 

2. The Conference of the Parties shallundertake its first global stocktake in 2023. 

3. The GST is designed to complete its work before beginning of each new cycle of Nationally 

Determined Contribution so that they assess well before they submit next NDCs. 
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Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

The global stocktake of the Paris Agreement (GST) is a process for taking stock of the 

implementation of the Paris Agreement with the aim to assess the world’s collective progress 

towards achieving the purpose of the agreement and its long-term goals (Article 14). 
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Q12. Consider the following pairs. 

Recently seen in news Launched by/led by 

1. Net-Zero Banking Alliance UN Environment Programme 
Finance Initiative 

2. Supply Chain Due 
Diligence Act(SCDDA) 

  US 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

 

Q13. With respect to Network Planning Group (NPG) formed under PM GatiShakti National Master 

Plan, consider the following statements. 

1. It constituted for monitoring the Master Plan and for approving any changes in the Master 

Plan to meet any emerging requirements. 

2. It is chaired by Cabinet Secretary. 

3. It will guide all the Departments/ Ministries responsible for creation of economic zones and 

connectivity infrastructure during the planning phase itself. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: d 

Explanation: 



QUIZ COMPILATIONS- JANUARY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 14 

 

News: 

 

It’s a difficult question. UPSC will ask such question. Its not good question if I put answer 1, 2 and 3 as 

correct. So, I gave wrong options. 

What is the institutional structure of PM GatiShakti National Master Plan? 

The institutional framework for rolling out, implementation, monitoring and support mechanism is 

designed to have a three-tier system – 

1. Empowered Group of Secretaries (EGOs) 

2. Network Planning Group (NPG) 

3. Technical Support Unit (TSU) 
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Don’t expect aise questions ki practice anywhere else. Practice here. Solve every question of our 

Test Series too.  

Q14. A radio signal originating from atomic hydrogen in an extremely distant galaxy was detected by 

the Giant Metrewave Radio Telescope (GMRT). This is the largest astronomical distance over which 

such a signal has been picked up. The telescope is located in: 

a. US, California 

b. Pune 

c. Thiruvananthapuram 

d. Canada 

Solution: b 

Explanation: 

News: 

 

A radio signal originating from atomic hydrogen in an extremely distant galaxy was detected by 

the Giant Metrewave Radio Telescope (GMRT) located in Pune. This is the largest astronomical 

distance over which such a signal has been picked up. 
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GMRT is a low-frequency radio telescope that helps investigate various radio astrophysical problems 

ranging from nearby solar systems to the edge of the observable universe.  

Atomic hydrogen is the basic fuel required for star formation in a galaxy. When hot ionized gas from 

the surrounding medium of a galaxy falls onto the universe, the gas cools and forms atomic 

hydrogen. This then becomes molecular hydrogen and eventually leads to the formation of stars. 

Q15. Consider the following statements. 

1. Central Pollution Control Board was constituted under the Environment Protection Act, 1986. 

2. CPCB monitors the water quality of rivers and other water bodies across the country under the 

National Water Quality Monitoring Programme. 

3. CPCB is also responsible for the enforcement of noise pollution control measures. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

First statement is incorrect: 

The Central Pollution Control Board of India is a statutory organisations under the Ministry of 

Environment, Forest and Climate Change. It was established in 1974 under the Water Act, 1974. 

Second statement is correct. 

CPCB, in association with Pollution Control Boards / committees in different states / Union 

territories, have been monitoring the water quality of rivers and other water bodies across the 

country through a network of monitoring stations under the National Water Quality Monitoring 

Programme. 

Third statement is also correct. 

Noise pollution and its sources are regulated under the Noise Pollution (Regulation and Control) 

Rules, 2000. Under this: 

 

This authority is authorized by Central Government. 
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Q16. The Panchayati Raj Institutions in India strengthen 

a. procedural democracy 

b. representative democracy 

c. participative democracy 

d. consensus democracy 

Solution: c 

Explanation: 

Procedural democracy is a democracy that emphasizes the minimal standards of democracy. 

It is the opposite of substantive democracy and gives a narrow perspective to democracy 

Ensuring freedom of the press, competitive party system, independent judiciary etc. can be 

procedural democracy. Hence option (a) is not correct. 

In an indirect democracy, the representatives elected by the people exercise the supreme 

power and thus carry on the government and make the laws. This type of democracy is also 

known as representative democracy. 

The 73rd Constitution Amendment Act is a significant landmark in the evolution of grass 

root democratic institutions in the country. It transforms the representative democracy 

into participatory democracy. The objective of the Act is to have village governance with 

participatory democracy as is visible through the gram Sabha. Hence option (b) is not 

correct and option (c) is correct. 

Consensus democracy is one in which decision making occurs through consensus thus taking 

into full consideration the opinion of the minorities, it is quite the opposite of majoritarian 

democracy. Hence option (d) is not correct. 

Q17. Consider the following statements. 

1. The Constitution has given discretion to Parliament to modify the composition of a 

legislative council in the state legislature. 

2. Number of members of Legislative Councils vary from state to state. 

3. One-third of the members of the Legislative Council are elected by the members of 

the Legislative Assembly of the State. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 1 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation:  
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First statement: Yes, Parliament can modify.  

Second Statement: When Constitution says, the total number of members in the Legislative 

Council of a State having such a Council shall not exceed one third of the total number of 

members in the Legislative Assembly of that State, it means, seats will vary from state to 

state. 

Third statement:  

Everything will be cleared once you go through few articles below.  

 

Q18. Which of following National Park has the highest tiger density in India? 

a. Jim Corbett  

b. Kaziranga 

c. Nagarhole 

d. Orang 

Solution: a 

Explanation: 

Uttarakhand's Jim Corbett National Park has reported the highest tiger density among India's 50 

tiger's reserves with 14 tigers per 100 square kilometers, followed by Kaziranga National Park in 

Assam, Nagarhole and Orang Tigers reserves. 
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Q19. In context of Art and Architecture, "Kulhadar Group" is associated with: 

a. Paintings 

b. Dance 

c. Puppetry 

d. Regional song of Rajasthan 

Solution: a 

Explanation: 

Kulhadar group belongs to miniature paintings. 

 

Link: http://ccrtindia.gov.in/miniaturepainting.php 

Q20. In which of the following regions ‘Coral triangle’ lies? 

a. Indian Ocean 

b. Caribbean Sea 

c. Equatorial West Pacific Ocean 

d. Atlantic Ocean 

Solution: c 

Explanation: 

http://ccrtindia.gov.in/miniaturepainting.php
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Q21. Which Potential Conservation Initiatives are eligible To Be Other Effective Area-based 

Conservation Measures (OECMs) defined under CBD? 

1. Area must be recognized as a protected area. 

2. Area should be effectively governed and managed, and it should be geographically defined. 

3. Area should achieve sustained and effective in situ conservation of biodiversity. 

4. Area should deliver associated ecosystem functions and services and cultural, spiritual, socio-

economic and other locally relevant values 

Select the correct code. 

a. 1, 2 and 3 only 

b. 2, 3 and 4 only 

c. 1, 3 and 4 only 

d. 1, 2, 3 and 4 
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Solution: b 

Explanation: 

Idhar 1, 2, 3 and 4 options (ALL CORRECT) hamesha ni milenge…Learn here. 

OECM, term, officially recognised under the CBDin 2018. 

An OECM is defined as “a geographically defined area other than a Protected Area, which is 

governed and managed in ways that achieve positive and sustained long-term outcomes for the in-

situ conservation of biodiversity with associated ecosystem functions and services and where 

applicable, cultural, spiritual, socio–economic, and other locally relevant values (Convention on 

Biological Diversity, 2018)”. 

 

In June 2022, the Indian environment ministry and United Nations Development Programme 

released a report to identify potential OECMs in the country, which included traditional agriculture 

systems practiced by the Apatani tribe in Arunachal Pradesh, Chakhesang tribe in Nagaland and 

saffron farmers in Kashmir, as well as several areas that are privately owned. 
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Q22. Consider the following statements. 

1. Under the Act, Forest Rights Committee will be set by state government to initiate the 

process of determining the nature and extent of forest rights. 

2. While land and access rights of forest-dwelling communities in terrestrial protected areas 

are legally protected under the Forest Rights Act of 2006, no equivalent statute exists to 

safeguard the rights of fishing communities. 

3. Under the Act, there is no need of providing any evidence for recognition and vesting of 

forest rights such as public documents, Government records. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 2 and 3 only 

c. 2 only 

d. 1 and 2 only 

Solution: c 

Explanation: 

First is incorrect. 

Forest Rights Committee” means a committee constituted by the Gram Sabha. 
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Second is correct. 

While land and access rights of forest-dwelling communities in terrestrial protected areas are legally 

protected under the Forest Rights Act of 2006, no equivalent statute exists to safeguard the rights of 

fishing communities. 

Third is incorrect. 
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Q23. Giving to Amplify Earth Action (GAEA) initiative was launched recently by: 

a. UNEP Secretariat 

b. World Economic Forum 

c. WTO 

d. UNFCCC Secretariat 

Solution: b 

Explanation: 

News: 

 

 

Q24. Consider the following pairs. 

Recently in news for state 

1. India’s First 
Constitution Literate 
District 

  Ahmedabad 

2. India’s first School of 
Logistics, Waterways, 
and Communication 

  Agartala 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

     Recently in news for   state 

India’s First 
Constitution Literate 
District 

Kollam 

India’s first School of 
Logistics, Waterways, 
and Communication 

  Agartala 
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Q25. Which of the following state has northernmost tip? 

a. Manipur 

b. Tripura 

c. Meghalaya 

d. Nagaland 

Solution: D 

Explanation: 

 

Q26. Lok Sabha has more power than Rajya Sabha in: 

1. Join session of Parliament 

2. Making cut motions 

3. Amending the Constitution  

4. The matter of creating new All India Services 

Select the correct code. 

a. 1 and 2 only 

b. 1, 2 and 3 only 

c. 2 only 

d. 1 and 4 only 

Solution: C 

Explanation: 

If any problem comes, it will come with Join session. Rest you can solve easily. 

Joint Session indicates the significance of co-equality in the powers of Lok Sabha and Rajya Sabha 

despite the fact that the Lok Sabha has more numerical strength. Why there would be concept of 

Join Sitting if LS has been given more power than Rajya Sabha in Joint session? Make sense? Yes. 



QUIZ COMPILATIONS- JANUARY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 27 

 

Rajya Sabha has equal powers with Lok Sabha in the amendment of the constitutional bill. Unlike 

money bill, the constitutional amendment bill has to be approved by both the houses of Parliament 

with special majority 

Rajya Sabha has less powers in the matters of finance like making cut motions, passing money bill, 

etc. vis-a-vis Lok Sabha. 

The Rajya Sabha has been given some special powers which it enjoys exclusively. This includes 

power to authorize the Parliament to create new All-India Services common to both the Centre and 

states (Article 312) by passing a resolution. 

Q27. Which of the following statement is/are correct regarding basic structure of the Constitution? 

1. The concept of Basic Structure ultimately established supremacy of the Parliament. 

2. Basic Structure indicates the implicit aspects of the Constitution which is considered to be 

the essence or spirit of the Constitution. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

First statement is incorrect. 

Basic Structure has established the supremacy of the Judiciary, not Parliament. Judiciary can strike 

any laws, notices, etc. which is against the basic structure. These are basic fundamental questions. 

Second statement is correct: 

There may be understanding problem in this statement. Implicit means, which is hidden. If it is 

explicit (openly written), then there would be no concept of Basic Structure. It is correct statement. 

Q28. Consider the following statements. 

1. Constitution has provided protection from removal to Chief Election Commissioner and 

Election Commissioner. 

2. Election Commission and State Election Commission is responsible for conducting elections 

for Parliament and State legislature respectively. 

Select The correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

First statement is incorrect. 
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The Constitution provides protection from removal only to Chief Election Commission. Election 

Commission can be removed on mere recommendation of CEC. 

 

Second statement too is incorrect. 

Both Parliament and State Election under control of CEC. Stat Election Commission role is in 

election of Panchayats and Municipalities. 

Q29. Which of the following explains the term Apabhramsa? 

a. A stage where the use of Sanskrit language was shunned as it was difficult for common 

people to understand. 

b. A rigid set of rules Jain monks has to follow 

c. A stage when People have to sacrifice their family to attain salvation and moksha and follow 

rigid rules 

d. A text of Himyana which prescribed procedures to follow path of Buddhism. 

Solution: a 

Explanation: 

First statement is correct. Just remember this.  

Q30. The image represents the Buddha with two Boddhisattva attendants. The Buddha is seated in 

padmasana (cross-folded legs) and the right hand is in the abhayamudra, raised a little above the 

shoulder level whereas the left hand is placed on the left thigh. The ushanisha, i.e., hair knot, is 

shown with a vertically raised projection. The image is found in: 

a. Sarnath 

b. Mathura 

c. Gaya 

d. Kushinagar 

Solution: b 

Explanation: 
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Q31. “Joint Working Group on Counter Terrorism and Transnational Crime (JWG-CTTC)” functions 

as a security block of which regional organization? 

a. BIMSTEC 

b. ASEAN 

c. G-20 

d. European Union 

Solution: a 

Explanation: 

In news: 
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Q32. Consider the following statements with respect to ‘Plea Bargaining’ recent seen in news  

in India.  

1. The concept of Plea bargaining currently has no legal representation in India, its not 

permitted by judiciary. 

2. Plea bargaining helps to reduce the workload of the courts and the prosecution, as it allows 

for the resolution of cases without the need for a trial. 

3. It violates Article 20(3), which prohibits self-incrimination. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: b 

Explanation: 

First statement is incorrect. 

The Supreme court recently issued guidelines on disposing of cases through Plea Bargaining. 

Plea Bargaining can be defined as the system of negotiating an agreement between the prosecution 

and defence wherein the defendant pleads guilty to a lesser offence or one or more offences 

charged in return for a lesser sentence or dismissal of other charges. It is based on the principle of 

‘Nolo Contendere’, literally meaning ‘I do not wish to contend’. 

India did not feel the need for Plea Bargaining due to the presence of the Jury system until the 1960s 

when legal representation was permitted. 

 

Second statement is correct. 
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Third statement is correct: 

 

Q33. With respect to ‘First Movers Coalition (FMC) Leadership Meeting’, consider the following 

statements. 

1. The FMC led by World Trade Organization is a coalition of companies creating markets for 

innovative clean technologies across sectors. 

2. India participated in the First Movers Coalition Leadership Meeting held recently by parent 

body. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 
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c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

The FMC is a coalition of companies using their purchasing power to create early markets for 

innovative clean technologies across sectors. These in-scope sectors are responsible for 30% of 

global emissions–a proportion expected to rise to over 50% by mid-century without urgent progress 

on clean technology innovation. 

 

 

Q34. ‘Expected Loss (EL)-based Approach’ introduced by RBI was recently seen in news in India 

related to: 

a. Increasing FDI in India 

b. for loanloss provisioning by banks 

c. Increasing funding to NBFCs 

d. Reduce fiscal deficit  

Solution: b 

Explanation: 

News: 
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Q35. Consider the following statements regarding Prorogation of Lok Sabha: 

1. Lok Sabha is prorogued by the Speaker. 

2. House cannot be prorogued while it is in session. 

3. Only Lok Sabha can be prorogued. 

Which of the above statements are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. None of the above 

Solution: d 

Explanation: 

The presiding officer (Speaker or Chairman) declares the House adjourned sine die, when the 

business of a session is completed. Within the next few days, the President issues a notification for 

prorogation of the session. However, the President can also prorogue the House while in session. 

 

Q36. With reference to the Election Commission, consider the following statements: 

1. The Constitution has not prescribed the qualifications of its members. 

2. The Constitution has not specified the term of its members. 

Select the correct code. 

a. 1 only 

b. 2 only 
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c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Though the Constitution has sought to safeguard and ensure the independence and impartiality of 

the Election Commission, some flaws can be noted, viz., 

1. The Constitution has not prescribed the qualifications (legal, educational, administrative or 

judicial) of the members of the Election Commission. So, statement 1 is correct. 

2. The Constitution has not specified the term of the members of the Election Commission. So, 

statement 2 is correct.  

 

But sir, we have studied, his term is 6 years. Yes, it’s term is 6 years but it’s not in Constitution.  

Election Commission (Conditions of Service of Election Commissioners and Transaction of 

Business)] Act, 1991 provides that. 

 

Q37 Maktubat, in the context of Medieval History means: 

a. conversations of Sufi saints 

b. biographical accounts of saints 

c. Letters written by Sufi masters, addressed to their disciples and associates 

d. None 

Solution: c 

Explanation: 
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Q38. Consider the following countries. 

1. West Bank 

2. Jordan 

3. Gaza Strip 

4. Lebanon 

Which of the above share/s boundary with Mediterranean Sea? 

a. 1 and 2 only 

b. 2, 3 and 4 only 

c. 2 and 3 only 

d. 3 and 4 only 

Solution: d 

Explanation: 
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Q39. Banni Grasslands mostly observed in: 

a. Gujarat 

b. Western Ghats 

c. North East Region 

d. Eastern Coastal Plains 

Solution: a 

Explanation: 
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Q40. Which of the following is/are important sources of Carbon Sequestration? 

1. Ocean and Forests as sinks 

2. Unmineable Coal Seams 

3. Depleted oil and gas reservoirs 

4. Deep Saline Formations 

Select the correct code. 

a. 1, 2 and 3 only 

b. 1 and 2 only 

c. 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: d 

Explanation: 

 

IMPORTANT SOURCES AND METHODS OF CARBON 

a. Forests as sink - Afforestation / Reforestation / Plantation / Agro forestry  

Above mentioned all the practices works as carbo carbon, they take carbon from atmosphere, utilize 

it in the process of photosynthesis as well as they store it in the form of biomass or wood. For this 
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process of carbon sequestration to be succeed it is essential that carbon must not return to the 

atmosphere from burning. 

b. Wetland restoration 

Wetland soil is an important natural carbon pool or sink. Wetlands conserves 14.5 % of the soil 

carbon found in world. But only 6 % of the world’s land is composed of wetlands. 

c. Oceans as sink 

Oceans absorb CO2 from the atmosphere because the concentration of CO2 in the atmosphere is 

greater than that in the oceans. This difference in partial pressure of CO2 results in the gas being 

absorbed into the world’s oceans. 

 

Q41. With respect to International Renewable Energy Agency (IRENA), consider the following 

statements. 

1. It is a global intergovernmental agency that drives the widespread adoption and sustainable 

use of only solar and wind as renewable energy. 

2. The proposal to set up an international agency dedicated to renewable energy was made in 

2015 at Paris Climate Conference and was officially set up in 2016. 

3. The Agency shall act in accordance with the principles of the United Nations  

furthering sustainable development. 

4. India is a member of the IRENA. 

Which of the above statements is/are correct? 

a. 2 and 3 only 

b. 1, 3 and 4 only 

c. 2, 3 and 4 only 
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d. 3 and 4 only 

Solution: d 

Explanation: 

First statement is incorrect: 

The International Renewable Energy Agency (IRENA) is a lead global intergovernmental agency for 

energy transformation that serves as the principal platform for international cooperation, drives the 

widespread adoption and sustainable use of all forms of renewable energy, including bioenergy, 

geothermal, hydropower, ocean, solar and wind energy. 

 

Second statement is incorrect. 

The proposal for an international agency dedicated to renewable energy was made in 1981 at the 

United Nations Conference on New and Renewable Sources of Energy, held in Nairobi, Kenya. 

IRENA was officially founded in Bonn, Germany, on 26 January 2009. 

Third statement is correct: 

 

Fourth statement is correct. 

India is a member. 
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It takes efforts to prepare such questions. So, aap bhi ache se practice kijye (you too practice well). 

Don’t take questions published on Goaltide lightly. 

Q42. These wetlands are located in Kerala. The Asian Water Bird Census recently reported that the 

number of birds in the wetland has reduced significantly. These wetlands lie between the Chalakudy 

river in Thrissur district and Bharathapuzha river in Malappuram district.It gives 40 per cent of the 

Kerala’s rice requirement. Identify the wetland. 

a. Vembannur Wetland Complex 

b. Sasthamkotta Lake 

c. Kole Wetlands 

d. Ashtamudi Wetland 

Solution: C 

Explanation: 

News: 
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Kole wetlands are located in Kerala. The Asian Water Bird Census recently reported that the number 

of birds in the wetland has reduced significantly. The number of water birds in the wetland has 

decreased from 15,959 in 2022 to 9,904. 

 

 

Q43. The recently released RBI’s Annual Report on Ombudsman schemes for 2021-22, provides data 

regarding the trends in the complaints. We will see one question. 

Consider the following statements. 

1. 51% of the complaints received are related to Public Sector banks. 

2. This is the first such report after a new RBI-India Ombudsman schemes was formed in 2021. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Provision of an Ombudsman helps understand customer grievances in relation to services provide by 

the respective entities and work towards resolution. The Reserve Bank of India’s (RBI) Integrated 

Ombudsman Scheme 2021 (RB-IOS) aims to achieve the same. This scheme integrated the following 

three existing three Ombudsman schemes of RBI: 

1. The Banking Ombudsman Scheme, 2006 (BOS) 

2. The Ombudsman Scheme for Non-Banking Financial Companies (NBFCs), 2018 and (OSNBFC) 

3. The Ombudsman Scheme for Digital Transactions (ODT). 
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51% of the complaints received are related to Public Sector banks 

 

 

This Annual Report is the first under the RB-IOS and thus, sets a new benchmark and creates anew 

legacy. 
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Q44. Consider the following statements. 

1. Sammed Shikharji Parvat Kshetra is the sacred teertha sthan of Jain dharma. 

2. It is located in Jharkhand. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

Q45. Consider the following statements. 

1. India is the world’s second-largest sugar producer after Brazil. 

2. Since 2010-11, India has consistently produced surplus sugar, comfortably exceeding the 

domestic requirements. 

3. India’s export of sugar has consistently declined due to anti-farmers policies in last three 

years. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

All below information is taken from PIB, so just remember them. 

India is the world’s second-largest sugar producer after Brazil.  
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Since 2010-11, India has consistently produced surplus sugar, comfortably exceeding the domestic 

requirements. The record exports would enable the sugar producers to reduce their stocks and 

would also benefit the sugarcane farmers, as the increased demand for Indian sugar is likely to 

improve their realizations. The significant rise in agri-exports is also seen as a testimony of the 

government’s commitment to increase farmers’ income by boosting exports of agricultural and 

processed food products of the country. 

 

Q46. Consider the following statements: 

1. The first election for Rajya Sabha held in 1952. 

2. Uttar Pradesh has the largest number of seats in Rajya Sabha followed by Maharashtra. 

3. Member less than 35 Years is not qualified to be member of Rajya Sabha. 

 Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

First elections for Rajya Sabha was held in 1952. 

Most of the students know that the maximum number of seats in Rajya Sabha is from Uttar Pradesh 

(31 seats). Go one step ahead. UPSC may ask to create pressure on you. 

UP-31, Maharashtra-19, Tamil Nadu-18, West Bengal-16. All north-Eastern states have one seat. 

Second important thing is if you even don’t know about second statement, you can correct this 

question if you are sure about statement 3. Third statement is wrong. So, you are left with only one 

option. So, don’t try to skip the question, if you are not sure about any statement. 
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Q47. Which of the following is the nearest island (Lakshadweep) to the mainland India? 

a. Andrott  

b. Kadmat 

c. Kalpeni 

d. Kavaratti 

Solution: a 

Explanation: 

 

Q48. Consider the following statements regarding Financial Stability and Development Council 

(FSDC). 

1. Union Finance Minister shall be the Chairperson of the council. 

2. The Council deals with issues relating to financial inclusion. 

3. The Council shall have a Sub-committee headed by the Governor, RBI. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All three statements are correct. 
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Q49. Which of the following correctly defines Molecular ecology? 

a. Reducing the environmental impact of formulas and packaging and using more and more 

renewable raw materials that are sustainably sourced 
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b. Use of natural substances that include enzymes from biological sources or whole cells to 

speed up chemical reactions. 

c. Biocultural approach to human health that integrates perspectives from anthropological 

political economy, ecology, and human adaptability. 

d. It is a hybrid field that combines molecular biology techniques with ecological data to make 

sense of natural processes such as the growth or decline of populations, formation of new 

species, extinctions. 

Solution: d 

Explanation: 

As urbanisation, deforestation, loss of wildlife, and human-wildlife conflicts continue to spiral up, 

there is a need to use every available tool available, to help protect what is left of the natural world. 

Molecular ecology is one such tool for conservation and can help in wildlife disease management 

and forensics in illegal trade. 

What is molecular ecology? 

Molecular ecology is a hybrid field that combines molecular biology techniques with ecological data 

to make sense of natural processes such as the growth or decline of populations, formation of new 

species, extinctions and invasiveness. 

Molecular ecology is used to estimate population genetic diversities to aid wildlife breeding and 

conservation efforts, define species for conservation policy, track diseases, and combat poaching. 

Q50. The Abhinaya Darpana by Nandikesvara is one of the main sources of textual material, for the 

study of the technique and grammar of body movement of which dance form? 

a. Bharatanatyam 

b. Kuchipudi 

c. Sattriya Dance 

d. Kathak  

Solution: a 

Explanation: 
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Q51. The site is a human-made reservoirwithin the Madhav National Park.The Site features a mosaic 

of landforms including open water and surrounding marshes, plantations. It is a Ramsar site.More 

than six months since the declaration of the lake as a Ramsar site, it is now covered in water 

hyacinth (Pontederia crassipes), an invasive species native to South Africa. The site is: 

a. Bhoj Wetland 

b. Haiderpur Wetland 

c. Sakhya Sagar 

d. Ropar 

Solution: c 

Explanation: 

All Ramsar sites are important. But you can’t cover all sites in detail. So, such question here at least 

will help you to eliminate options and reach answers. So, few I am covering here, few covered under 

Test Series section. 

News: 

 

 

Q52. With respect to ‘hijol’ tree found in India, consider the following statements. 

1. This tree is majorly grown in western ghats of India. 

2. It is a tree species adapted to floodplains. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 
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c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

 

 

The tree is widely distributed throughout Southeast Asia, Australia and Africa. The species is found in 

the floodplains of the Indo-Bangladesh landscape (IBL) which is cradled by the Ganges-Brahmaputra-

Meghna basin. 

Q53. What is BharOS software and how different is it from Google’s Android OS? 

1. BharOS comes with the No Default Apps (NDA) setting, meaning that users do not have to 

keep or use pre-installed apps in this mobile operating system. 

2. It is an indigenous operating system (OS), like Android or iOS recently developed by IIT Delhi. 

3. BharOS would offer Native Over the Air (NOTA) updates, meaning that security updates and 

bug fixes will be automatically installed rather than users having to check for updates and 

implementing them on their own. 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

It has been developed by IIT Madras. 



QUIZ COMPILATIONS- JANUARY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 50 

 

 

Q54. With respect to RAMP initiative in India, consider the following statements. 

1. It is a World Bank assisted project. 

2. The programme aims to improve the educational facilities in back regions of the country. 

Which of the above statements is/re correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 
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“Raising and Accelerating MSME Performance” (RAMP) is a World Bank assisted Central Sector 

Scheme, supporting various Corona Virus Disease 2019 (COVID) Resilience and Recovery 

Interventions of the Ministry of Micro, Small and Medium Enterprises (MoMSME). 

The programme aims at improving access to market and credit, strengthening institutions and 

governance at the Centre and State, improving Centre-State linkages and partnerships, addressing 

issues of delayed payments and greening of MSMEs. 

In addition to building the MoMSME’s capacity at the national level, the RAMP program will seek to 

scale up implementation capacity and MSME coverage in  States. 

Q55. Consider the following. 

1. Sweden 

2. Norway 

3. Estonia 

4. Finland 

Which of the above countries form border with Baltic Sea? 

a. 1, 2 and 3 only 

b. 2, 3 and 4 only 

c. 1, 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

See the Map and relax. No need to worry. Just from now, print this map in mind.  
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Q56. Consider the following statements regarding Monetary Policy Committee. 

1. It is a statutory body under RBI Act, 1934. 

2. It determines the inflation target in terms of the Consumer Price Index, once in every five 

years. 

3. The decision of the Committee would be binding on the RBI. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

The Reserve Bank of India Act, 1934 (RBI Act) has been amended by the Finance Act, 2016, to 

provide for a statutory and institutionalized framework for a Monetary Policy Committee, for 

maintaining price stability, while keeping in mind the objective of growth. The Monetary Policy 

Committee would be entrusted with the task of fixing the benchmark policy rate (repo rate) required 

to contain inflation within the specified target level. 
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Under the Monetary Policy Framework Agreement, the RBI will be responsible for containing 

inflation targets at 4% (with a standard deviation of 2%) in the medium term (For more details see 

here). Under Section 45ZA (1) of the RBI Act, 1934, the Central Government determines the 

inflation target in terms of the Consumer Price Index, once in every five years in consultation with 

the RBI. See below: 
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Q57. With reference to cultural history of India, the term Sangharamas refers to? 

a. Village headmen 

b.  Religious sect 

c. Administrative functionary 

d. Rock cut monasteries 

Solution: d 

Explanation: 

Rock cut monasteries in ancient India were called as Sangharamas. Sangharama is a Sanskrit word 

meaning "temple"" or "monastery", the place, including its garden or grove, where dwells the 

Sangha, the Buddhist monastic community. 

A famous Sangharama was that of Kukkutarama in Pataliputra. The Kukkutura Sangharama was later 

destroyed and its monks killed by Pushyamitra Shunga, according to the second century 

Ashokavadana. 

They represent a form of architecture prevalent in Buddhism and Jainism. 

Q58. Consider the following statements regarding North Eastern Council (NEC). 

1. The North Eastern Council (NEC) was established during priministership of Indira Gandhi. 

2. Governors and Chief Ministers of constituent States, both are the members of the Council. 

3. The union home minister is ex-officio Chairman of NEC. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The North Eastern Council (NEC) was established by North Eastern Council Act, 1971 for securing 

balanced and coordinated development and facilitating effective co-ordination amongst seven 

States of North Eastern Region.  
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Subsequent to the amendment of NEC Act in December 2002 (Notified on 23rd June 2003) Sikkim 

was added as 8th Member State, and NEC was mandated to function as a statutory Regional 

Planning Body for the North Eastern Region.  

Union Home Minister as ex-officio Chairman of North Eastern Council (NEC) 

The Council comprises of Governors and Chief Ministers of constituent States and three members 

to be nominated by the President as per Clause (iii) of Section 3 of the North Eastern Council 

(Amendment) Act, 1971.  

 

Q59. Investment in a country is measured as : 

1. It is money put in a business or any economic activity 

2. It is portion of the final output (GDP) which consists of capital goods. 

3. Depreciation has no effect on total investment in a country. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

This is first question of economics of Goaltide Prelims Test Series 2023. 

That part of the final output which comprises of physical capital goods is called gross investment. So, 

investment in a country is not measured as money put in a business or any economic activity but it 

is basically that portion of the final output (GDP) which consists of capital goods. 
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Suppose there is only one factory (capital good) in a country, which is worth Rs. one lakhs and is 

producing consumption goods worth Rs. 700 and capital goods worth Rs. 300 in a particular year 

(say 2019-20) in an economy. This means that the GDP in 2019-20 will be Rs. 1000 (which is the total 

production of both consumption and capital goods) and the gross investment in the economy will be 

Rs. 300 or (Rs 300/Rs1000) 30%, as investment is measured as the percentage of output which 

consists of capital goods. 

Third statement is incorrect. 

Now when the factory runs for a year then wear and tear happens in the factory which is called 

depreciation.  

Depreciation is also defined as consumption of physical capital. In the above example Rupees one 

lakh worth of capital goods produce Rs. 700 consumption goods and Rs. 300 capital goods, but 

during this production process suppose there is wear and tear of Rs. 50 in the factory. This implies 

that to produce Rs. 700 of consumption goods and Rs. 300 of capital goods there is a loss of Rs. 50 of 

capital goods in the economy i.e. net production of capital goods (investment) in the economy is Rs. 

300 minus Rs. 50. Net Investment = Gross Investment - Depreciation = Rs. 300 - Rs. 50 = Rs. 250 
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Q60. Which of the following statements is/are correct regarding the Attorney General (AG) of India? 

1. AG can take part in the proceedings of Joint Sitting of Parliament. 

2. AG can take part in the proceedings of all committee of the Parliaments. 

3. Attorney-General shall have right of audience in only Supreme Court of India. 

4. AG can vote in Lok Sabha. 

Select the correct code. 

a. 1 and 2 only 

b. 1, 2 and 3 only 

c. 3 and 4 only 

d. 1 only 

Solution: d 

Explanation: 

First statement is correct. 

Second and Fourth statements are wrong. 

 

Third is also incorrect: 

 

Q61. Consider the following statements. 

1. Before the passing of the Legal Practitioners (Women) Act in 1923, women in India, though 

permitted to study law, were not allowed to be enrolled as advocates. 

2.  Currently, women judges make 23 percent of the total sittings in Supreme Court. 

3. The Constitution has fixed the tenure of a judge of the Supreme Court. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1 only 

Solution: d 

Explanation: 

Important Question. These statements taken from Daily news section whichever paper you follow. 

Such statements.  

First statement is correct. 
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The Legal Practitioners (Women) Act was finally passed in 1923, removing the disqualification 

affirming that “no woman shall, by reason only of her sex, be disqualified from being admitted or 

enrolled as a legal practitioner or from practicing as such”. 

 

Currently, we have four women judges out of sitting 33. It constitutes less than 15 percent. Second 

statement is incorrect. 

Third statement is incorrect. 

The Constitution has not fixed the tenure of a judge of the Supreme Court. However, it makes the 

following three provisions in this regard: 

• He holds office until he attains the age of 65 years. Any question regarding his age is to be 

determined by such authority and in such manner as provided by Parliament. 

• He can resign his office by writing to the President. 

• He can be removed from his office by the President on the recommendation of the Parliament. 

Q62. Which of the following provisions regarding Finance Commission is/are correct? 

1. The President shall lay down recommendation made by the Finance Commission before 

each House of Parliament. 

2. The Commission shall have all the powers of a civil court under the Code of Civil Procedure, 

1908. 

3. Members of Finance Commission are eligible for reappointment. 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. 

First statement is a part of Indian Constitution.  
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Third statement is correct. But it is part of below mentioned Act. Not Constitution. 

 

 

Second statement is correct. It is mentioned in Act, not Constitution. Remember this. 

 

Q63. Consider the following statements regarding Indian Coast Guard. 

1. It is a statutory body under Ministry of Home Affairs. 

2. The preservation and protection of marine environment and control of marine pollution is 

the function of the Indian Coast Guard. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

We did not make question tough, but you will read below Paragraph. 
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The Indian Coast Guard was formally established on 18 August 1978 by the Coast Guard Act, 1978 of 

the Parliament of India as an independent Armed force of India. 

It operates under the Ministry of Defence. 

 

Q64. Consider the following statements regarding National Food Security Act, 2013. 

1. Pregnant woman and lactating mother are entitled to get free meal shall be entitled during 

pregnancy and six months after the childbirth. 

2. State Food Commission is set up for the purpose of monitoring and review of 

implementation of this Act. 

3. Both rural and urban population are considered to be eligible households under this Act. 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 
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c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

Q65. Regional Anti-Terrorist Structure belongs to: 

a. BRICS 

b. Shanghai Cooperation Organization 

c. G-20 

d. G-7 

Solution: b 

Explanation: 

A three-day meeting is held under the framework of the Shanghai Cooperation Organization’s (SCO) 

Regional Anti-Terrorist Structure (RATS). 

Q66. Which of the following can be notified under Wetlands (Conservation and Management) 

Rules, 2017? 

1. Wetlands designated by the Government of India to the List of Wetlands of International 

Importance. 

2. Paddy fields 

3. Human-made waterbodies specifically constructed for aquaculture purposes 

4. Wetlands falling within areas covered under the Wildlife (Protection) Act, 1972 

Select the correct code. 
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a. 1 only 

b. 1, 2 and 3 only 

c. 1 and 4 only 

d. 2 and 3 only 

Solution: a 

Explanation: 

 

 

Q67. As per the provisions mentioned in the Constitution, consider the following statements. 

1. An election to fill a vacancy caused by the expiration of the term of office of President shall 

be completed before the expiration of the term. 

2. The person elected to fill the vacancy of the President shall be entitled to hold office for the 

full term of five years from the date on which he enters upon his office. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 
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Q68. Consider the following statements regarding Precision Agriculture in India. 

1. Precision farming is an approach where inputs are utilized in precise amounts to get increased 

average yields, depends heavily on traditional cultivation techniques. 

2. Pooling of farmlands through contract farming, proposed under the farm bills 2020, can 

expand the scope of precision agriculture in India. 

3. Precision agriculture becomes more relevant in farms of big sizes, mostly more than 4-5 

hectares per holding. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

First statement is incorrect. 

Precision farming is an approach where inputs are utilized in precise amounts to get increased 

average yields, compared to traditional cultivation techniques. Sustainable PA is this century’s 

most valuable innovation in farm management that is based on using Information and 

Communication Technologies (ICTs). This is the most recent innovation technology based on 

sustainable agriculture and healthy food production and it consists of profitability and increasing 

production, economic efficiency and the reduction of side effects on the environment. 

Second statement is correct. 

 

Third statement is Incorrect. 

In India, one major problem is the small field size. More than 58 per cent of operational holdings in 

the country have size less than one hectare (ha). That’s the reason Precision agriculture becomes 

important in India. 
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Q69. Consider the following statements. 

1. The Sufi doctrines are mainly based on the Quranic teachings and the life of the Prophet 

Muhammad. 

2. Women were completely prohibited to become Sufi saints. 

3. Sufism got influenced by Christianity, Hindu and Buddhist mythical ideas. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

First statement is correct. 

 

Second statement is incorrect. 

 

Third statement is correct: 
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Q70. Silpihs, Sthapati, Suiragrahin and Vardhakin in ancient India were: 

a. Maintains finance of Mughal Empire at different stages of administration 

b. Builders of temples 

c. Priests assigned for different task under Krishnadeva Raya. 

d. Officers at local administration under Gupta Empire 

Solution: b 

Explanation: 

 

Q71. Which of the following is very closest to Tropic of Cancer? 

a. Hanoi 

b. Dhaka 

c. Manila 

d. Bangkok 

Solution: b 

Explanation: 
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See the map below. Didn’t find any good map on website, so used my Atlas Book.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q72. Consider the following places. 

1. Taipei (Taiwan) 

2. Tokyo (Japan) 

3. Manila (Philippines) 

4. Seoul (S. Korea) 

Arrange the above nations from North to South. 

a. 4-2-1-3 

b. 2-4-3-1 

c. 2-4-1-3 

d. 4-2-1-3 

Solution: d 

Explanation: 
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Q73. Which of the following river meets Ganga directly, not via the Yamuna River? 

a. Son River  

b. Betwa 

c. Chambal 

d. Ken 

Solution: a 

Explanation: 
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Q74. Which water body can be found to the north of the United Arab Emirates (UAE)? 

a. The Atlantic Ocean 

b. The Gulf of Oman 

c. The Persian Gulf 

d. The Red Sea 

Solution: c 

Explanation: 

 

Q75. Saudi Arabia have coastlines on three bodies of water. Which body of water being longest? 

a.  Persian Gulf 

b. Red Sea 

c. Arabian Sea 
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d. Gulf of Aqaba 

Solution: b 

Explanation: 

 

Q76. Three Baltic nations are (identify country form capital)? 

1. Riga 

2. Tallinn 

3. Helsinki 

4. Vilnius 

Select the correct code. 

a. 1, 2 and 3 only 

b. 2, 3 and 4 only 

c. 1, 2 and 4 only 

d. 1, 3 and 4 only 

Solution: c 

Explanation: 

Helsinki is Finland. 
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Q77. Which of the following are tributaries of Kaveri River? 

1. Bhavani 

2. NoyyaL 

3. Amravati 

4. Hemavati 

5. Shimsha 

Select the correct code. 

a. 1, 2 and 3 only 

b. 3, 4 and 5 only 

c. 1, 2 and 5 only 
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d. All of the above. 

Solution: d 

Explanation: 

 

Q78. Consider the following. 

1. Kyiv 

2. Kherson 

3. Donetsk 

4. Luhansk 

Arrange the above regions form North to South. 

a. 1-2-3-4 

b. 1-3-4-2 

c. 1-4-3-2 

d. 4-3-1-2 

Solution: c 

Explanation: 
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Q79. Consider the following pairs. 

Regions in news location 

1. Sumy         Ukraine 

2. Donbass        Israel 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

 

Solution: a 

Explanation: 

All are in Ukraine. 
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Q80. Consider the following Seas. 

1. Black Sea 

2. Aegean Sea 

3. Caspian Sea 

4. Adriatic Sea 

To which of the above given Seas, does Turkey forms border with? 

a. 1 and 4 only 

b. 3 and 4 only 

c. 2 and 3 only 
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d. 1 and 2 only 

Solution: d 

Explanation: 

Turkey shares boundaries with Black Sea, Aegean Sea and Mediterranean Sea. 

 

Q81. If the design of currency note has to change, then, 

a. Final approval is from the Central Government 

b. Final approval is given by RBI board on consideration of recommendations of central 

government. 

c. Monetary Policy Committee takes the final decision 

d. There is no role of central government, solely taken by RBI 

Solution: a 

Explanation: 
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Q82. With respect to Genetic Engineering Appraisal Committee (GEAC), consider the following 

statements. 

1. Union Minister is the chairperson of committee. 

2. Clearance of Genetic Engineering Appraisal Committee (GEAC) is mandatory for the 

environmental release of Genetically Modified (GM) crops. 

3. Any person aggrieved by a decision made by GEAC prefer an appeal to such authority as may 

be appointed by Ministry of Environment and Forests. 

4. The GEAC shall have powers to revoke such approval If there is any new information as to the 

harmful effects of the genetically engineeredorganisms or cells. 

Which of the above statements is/are correct? 

a. 2, 3 and 4 only 

b. 2 and 4 only 

c. 2 and 3 only 
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d. 1, 3 and 4 only 

Solution: a 

Explanation: 

Learn something new about GEAC. I will cover few points here; rest will cover under Test Series. 

First statement is incorrect. 

 

Second, third and fourth are correct. 

 

 

 

Q83. Mission LiFE recently in news is related to: 

a. environment can be protected by making changes in our lifestyle 

b. Appropriate use Genetically modified organisms in environment 
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c. Harvest ground water using solar pumps 

d. To reduce lifestyle led diseases which is on rise in India 

Solution: a 

Explanation: 

LiFE envisions replacing the prevalent 'use-and-dispose' economy—governed by mindless and 

destructive consumption—with a circular economy, which would be defined by mindful and 

deliberate utilization. The Mission intends to nudge individuals to undertake simple acts in their daily 

lives that can contribute significantly to climate change when embraced across the world. 

Q84. Consider the following statements. 

1. As per the recent report, of the total urban sewage generated, more than 70 percent was 

the actual quantityof wastewater treated. 

2. Higher will be the Biochemical Oxygen Demand (BOD), less will be the pollution in the water 

body. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 
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So, more the organic matter, higher will be the BOD and as a result more will be the pollution in 

the water body. This causes severe decrease in the dissolved oxygen and kills the aquatic animals. 

 

Q85. Consider the following statements. 

1. Among its all-neighbor nations, India shares maximum land boundary with 

Bangladesh. 

2. Sikkim and Arunachal Pradesh share THREE international boundaries. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 
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From the document of Ministry of Home Affairs, 

 

Sikkim shares boundary with Nepal, Bhutan and China 

Arunachal Pradesh shares boundary with China, Myanmar and Bhutan 

 

Q86. Consider the following statements. 

1. The Constitution fixed the maximum and minimum number of members in 

Legislative Councils. 

2. One-third of members in Legislative Councils are nominated by Governor. 

Which of the above statement is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 
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First statement is correct: 

 

Second statement is incorrect: 

Q87. Consider the following features of Indo-Islamic architecture: 

1. Sloping walls 

2. Combination of arch, lintel and beam 

3. A profusion of red sandstones 

Which of the features given above are the characteristics of Tughlaq era buildings? 

a. 1 and 3 only 

b. 1 and 2 only 

c. 2 and 3 only 

d. 1, 2 and 3 
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Solution: b 

Explanation: 

The Tughlaq period had seen great building activity which marked the climax of the Delhi 

Sultanate. The striking feature of the Tughlaq architecture was sloping wall, also known as 

salami/bater. It gives the effect of strength and solidity to the building. So, the statement 

(1) is correct. 

Tughlaqs deliberately attempted to combine the principles of the arch, lintel and beam in 

their buildings. This can be found in the buildings of Firoz Shah Tughlaq. Hauz Khas, which 

was a pleasure resort and had a huge lake around it, alternate stories have arches and the 

lintel and beam. So, the statement (2) is also correct. 

The Tughlaqs did not generally use the red sandstone in their buildings but the cheaper 

and more easily available Greystone. Since it was not easy to carve this type of stone, the 

Tughlaq buildings have minimum decoration. So, the statement (3) is not correct. 

Q88.  ‘Minor Forest Produce (MFP)’ is defined by: 

a. Indian Forest Act 1927. 

b. Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest 

Rights) Act, 2006 

c. Forest Conservation Act, 1980 

d. Not defined anywhere, is defined by Central Government on need basis 

Solution: b 

Explanation: 

Section 2(4) of the Indian Forest Act 1927 defines only "forest-produce" and this term 

connotes to those products whether found in or brought from a forest. 

Minor Forest Produce (MFP) is a subset of forest produce and got a definition only in 2007 

when the Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest 

Rights) Act, 2006. Therefore, first statement is wrong. 

Section 2(i) of the said Act defines a Minor Forest Produce (MFP) as all non-timber forest 

produce of plant origin and includes bamboo, brushwood, stumps, canes, Tusser, cocoon, 

honey, waxes, Lac, tendu/kendu leaves, medicinal plants and herbs, roots, tuber and the 

like. 

 



QUIZ COMPILATIONS- JANUARY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 83 

 

Q89. Consider the following statements regarding Mediterranean Climate. 

1. Hot, dry summers and cool, wet winters are the features of this climate, 

2. It is found only in areas surrounding Mediterranean Sea only. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

 

Entirely confined to the western portion of continental masses, between 30° and 45° north 

and south of the equator. The basic cause of this type of climate is the shifting of the wind 

belts. 

Mediterranean Sea has the greatest extent of this type of ‘winter rain climate’ and gives 

rise to the name Mediterranean Climate. 

Clear skies and high temperatures; hot, dry summers and cool, wet winters are the 

features of the Climate. 

You can see from the above graph; it is not only limited to Mediterranean seas. The best 

developed form of this climatic type is found in central Chile. Other Mediterranean regions 

include California (around San Francisco), the south-western tip of Africa (around Cape 

Town), southern Australia, and south-west Australia. 
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Q90.Consider the following saints. 

1. Guru Nanak 

2. Kabir 

3. Tulsidas 

Which of the above saints believed in “Nirakar” form of God? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 3 only 

Solution: c 

Explanation: 

Sakar is what we can see our naked eye. i.e. we need picture to believe in supreme power. 

“Nirakar” is what we cannot see with our naked eyes. There is no shape in which we can fix 

it. We don’t need picture to worship. 

Few important saints you need to know. 

a. Kabir, Namdev and Guru Nanak preached towards Nirakar form of God. 

b. Surdas, Tulsidas, Mirabai, Chaitanya, belongs to Sakar form of God. 

 

Q91. Consider the following statements in respect of Bharat Ratna and Padma Awards: 

1. Government servants including those working with PSUsare not eligible for these Awards. 

2. Padma Awards, which were instituted in the year 1954, were suspended only once. 

3. The number of Bharat Ratna Awards is restricted to a maximum of three in a particular year. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 Only 

c. 1 and 3 Only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

Second and third statement are part of UPSC prelims 2021 question. Both are difficult statements. 

It’s a challenge that no one will read these statements on their own. Statements are framed from 

original site of Padma Awards. See below: 
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THIS WAY OF PRACTICE IS ONLY COVERED UNDER GOALTIDE WHERE WE FRAME ORIGINAL 

QUESTIONS AND STATEMENTS FROM WEBSITE.  

All persons without distinction of race, occupation, position or sex are eligible for these awards. 

However, Government servants including those working with PSUs, except doctors and scientists, 

are not eligible for these Awards. 

 

Q92. With respect to UN Institute for Disarmament Research (UNIDIR), consider the following 

statements. 

1. UNIDIR is an autonomous institution within the United Nations that conducts independent 

research on disarmament, particularly international security issues. 

2. UNIDIR is primarily funded by voluntary contributions from Member States and also partners 

with other UN agencies and private foundations. 

3. It aims to providing the international community with more diversified and complete data on 

problems relating to international security. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 
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With over 40 years of experience, UNIDIR is an autonomous institution within the United Nations 

that conducts independent research on disarmament and related problems; particularly 

international security issues. 

‘Our specialized focus on disarmament and arms control sets us apart from other think tanks. Our 

status within the United Nations system enables us to engage with and support Member State 

deliberations. Our role is to provide ideas and advice and to facilitate dialogue that can advance 

multilateral arms control and disarmament’. 

UNIDIR is primarily funded by voluntary contributions from Member States and also partners with 

other UN agencies and private foundations. If we go it original website and see, India too has 

contributed to funding. 

 

 

Q93. With respect to newly found species, Soliga ecarinata, consider the following statements. 

1. It is a new species of frog. 

2. The new species has been named after the Soliga community found in north eastern region 

of India. 

Which of the above statements is/are correct? 
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a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

News: 

 

The Biligri Rangana hills are located in the Western Ghats. That is, in the state of Karnataka. A 

group of researchers found a new wasp species in the region. The new wasp species has been 

named after the Soliga community of the region. 

 

Q94. Demonstration for Rocket to Agile Cislunar Operations (DRACO) spacecraft belongs to: 

a. NASA 

b. Europe Space Agency 

c. Russian Space Agency 

d. ISRO 

Solution: a 

Explanation: 
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News: 

 

NASA and the Defense Advanced Research Projects Agency (DARPA) announced a collaboration- 

Demonstration Rocket for Agile Cislunar Operations, or DRACO, program, to demonstrate a 

nuclear thermal rocket engine in space, an enabling capability for NASA crewed missions to Mars. 

With the help of this new technology, astronauts could journey to and from deep space faster than 

ever – a major capability to prepare for crewed missions to Mars. 

Using a nuclear thermal rocket allows for faster transit time, reducing risk for astronauts. Reducing 

transit time is a key component for human missions to Mars, as longer trips require more supplies 

and more robust systems. Maturing faster, more efficient transportation technology will help NASA 

meet its Moon to Mars Objectives. 

Q95. Consider the following regarding Special Drawing Right (SDR). 

1. The value of the SDR is directly determined by supply and demand in the market. 

2. The weightage of currencies in SDR is same for every country. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

The Special Drawing Right (SDR) is an interest-bearing international reserve asset created by the IMF 

in 1969 to supplement other reserve assets of member countries. 

The value of the SDR is not directly determined by supply and demand in the market, but is set 

daily by the IMF on the basis of market exchange rates between the currencies included in the SDR 

basket. 

It can be held and used by member countries, the IMF, and certain designated official entities called 

“prescribed holders”—but it cannot be held, for example, by private entities or individuals. Its 

status as a reserve asset derives from the commitments of members to hold, accept, and honor 

obligations denominated in SDR. The SDR also serves as the unit of account of the IMF and some 

other international organizations. 
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Q96. Which of the places given below is closest to Sri Lanka? 

a. Puducherry 

b. Chennai 

c. Vishakhapatnam 

d. Bangalore 

Solution: a 

Explanation: 

Vishakhapatnam is in Andhra Pradesh. 

Among Puducherry and Chennai, Puducherry is near to Sri Lanka. Bangalore is between Puducherry 

and Chennai. 
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Q97. Which among the following can declare an election void if disqualified candidate is elected to 

the Parliament? 

a. President 

b. Election Commission of India 

c. High Court 

d. Speaker 

Solution: c 

Explanation: 

Very important. Please remember. 

If a disqualified person is elected to the Parliament, the Constitution lays down no procedure to 

declare the election void. This matter is dealt with Representation of People Act 1951, which 

enables the High Court to declare an election void if a disqualified candidate is elected. The 

aggrieved party can appeal to the Supreme Court against the order of the High Court in this regard. 

Q98. Which of the following is not a part of the Tripitakas? 

a. Therigatha 

b. Dhammapada 

c. Suttavibhaga 

d. Acharanga Sutra 

Solution: d 

Explanation: 
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From where we should prepare such questions. Don’t prepare from anywhere. Just skip if you don’t 

know. 

Tripitaka is the Buddhist canon written in Pali. It contains three parts - Vinaya Pitaka, Sutta Pitaka 

and Abhidhamma Pitaka. It contains various books. 

Therigatha, a part of Sutta Pitaka, consists of 73 poems — in which the early nuns (bhikkhunis) 

recount their struggles and accomplishments along the road to arahantship. 

Dhammapada is a collection of sayings of the Buddha in verse form. It is also a part of Sutta Pitaka. 

Suttavibhaga is the book in Vinaya Pitaka and contains rules for the behaviour of monks. They are 

called as Patimokkha rules. It is divided into two parts, covering the rules for monks and nuns, 

respectively. 

Acharanga Sutra is the first of the twelve Angas, part of the agamas (religious texts) which were 

compiled based on the teachings of Mahavira. Thus, it belongs to Jainism. 

Therefore, the correct answer is (d). 

Q99. Which of the following correctly defines the term Social Forestry? 

a. land-use systems and technologies where woody perennials (trees, shrubs, palms, bamboos, 

etc.) are deliberately used on the same land-management units as agricultural crops and/or 

animals 

b. Forestry outside the conventional forests which primarily aim at providing continuous flow 

of goods and services for the benefit of people 

c. It is an applied science that studies ecological processes applied to agricultural production 

systems. 

d. It is the science and technology of producing and using plants in agriculture for food, fuel, 

fiber, and land restoration. 

Solution: b 

Explanation: 

Every question asked here is as per UPSC standard. Do solve all our quizzes and join Test Series for 

comprehensive preparation of Prelims exam. Link given in the end of this quiz. You must enroll it.  
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Q100. Which the following took place under the governor-generalship of Dalhousie? 

1. Doctrine of Lapse 

2. Charles Wood Dispatch 

3. Second Anglo-Burmese War (1852) 

4. Treaty of Lahore which concluded first Anglo-Sikh War 

Select the correct answer using the codes given below. 

a. 1, 2 and 3 only 

b. 2, 3 and 4 only 

c. 1, 3 and 4 only 

d. All the above 

Solution: a 

Expalantion: 

He served as Governor-General of India from 1848 to 1856. 
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Charles Wood Despatch 

In 1854, Charles Wood prepared a Despatch on an educational system for India. This document is 

considered as the "Magna Carta of English Education in India". It’s main aim was to: 

a. To impart Western knowledge, information about the western culture to the Indians.  

b. To educate the natives of India so that a class of public servants could be created.  

c. To promote intellectual development and also raise the moral character of the young 

generation. 

d. To develop practical and vocational skills of the Indians people so that more and more 

articles could be produced and also to create a good market for consumption of those 

goods. 

Other important contents of Wood’s Despatch: It is important. Do read. 

a. The Wood's Despatch of 1854, for the first time, recommended the creation of a 

Department of Public Instruction in each of the five provinces of Bengal, Bombay, Madras, 

the Punjab and the North Western provinces. 

b. Elementary education was considered to be the foundation of the education system. 

c. The Wood's Despatch of 1854 recommended the establishment of universities at Calcutta, 

Bombay and Madras. 

d. The Wood's Despatch of 1854 recommended the sanction of a grant-in-aid system in the 

Indian educational system. To educate the large number of people of India was a difficult 

task and so the grant-in-aid system was adopted by the government. 

e. The Wood's Despatch of 1854 gave importance to teaching of English, but at the same time, 

it also stressed on the teaching of Indian languages. 
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f. The Despatch clearly stated that Indian languages as well as English should be used as 

media of instruction. Therefore, statement 2 is wrong. 

g. The Wood's Despatch of 1854 stressed on female education. The Wood s Despatch stated, 

the importance of female education in India cannot be over- rated. 

If you remember in Prelims 2018, a question on Woods’s Despatch: See if you can attempt that now. 

 

Second Burmese War 

 

 

Lord Hardinge (1844-48) fought the first Anglo-Sikh War (1845-46) and concluded the Treaty of 

Lahore. 


